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SECTION A {20 X 2 marks)

For each of the foliowing questions, ch
correct oval (1, 2, 3 or 4) on the Optical

1 In the number 6254 the value of ¢
(1) 6000
(2) GO0
{2 60
(4) 6
2

(1)
(2)
(3)
(4)

3+5+54+7
3500+ 5+ 7

3000 + 55 + 7
3000 +550 + 7

oose the correci answer and shade the
Answer Sheet provided.

ke digit 6 is

Which of the foflowing is equal to 355772

3 Which of the following is equal to 70647

(1
(2)
(3)
(4)

4 Add 2577 to 1698. In the answer, the digit in the hundreds place is

(1)
(2)
(3)
(4)

Seven hundred and sixty-four

7060 + 600 + 4
70 hundreds and 64 ones

706 + 4

7
2
5
4

5  72:9=2x

(1)
()
(3)
(4)

6
2
3
4
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6 Divide 605 by 8. What is the remainder?

(1 1
(2) 2
(3) 3
(4 5
7 ‘Which of the following is equai to G003 - 43357

(1) 100+ 60 +8
(2) 100+80+6
(3) 1000 + 600 + 8
{4) 1000 + 800 + 6

10C 10

8 10 tens multiplied by 10 ones is equali to
(1) 7000
(2) 200
(3)- 110

(4) 100

/

9 8289 is more than 3949,

(1) 5804
(2) 5480

(3) 4340

(4) 4058

10 In the number 1425, the value of the digit is the smallest. .

(1) 1

(2) 2

3 5

4 4
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T Subtract 743 from 2000. The answer 15

(1) 1157

) 1257
(3} 1367
(4) 1256

12 There are 35 pages in an exercise book. Which method would you use o find the
pages of 7 such books? -

(1) 35x7
(2) 35:7
(3) 35+7
(4) 35_7

13 Which one of the following is 750 less than 328072

(1) 2430
(2) 2520
(3) 3930
(4) 4030

14 Which one of the following statements is incorrect?
(1) 4threes=3+3+'3+3
(2) 60=6tens

(3) 100 x 10 = 1000
(4) 6000 =60tens

15 The product of 96 and 4 is the same as the product of § and

1) 24
(2) 64

(3) 384
(4) 576
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16

18

19

20

Thomas puts 36 pieces of cake equally inlg- 4 boxes. How many pieces of cake are
there in 3 boxes?

27
12

Devi wants 10 give 29 stickers to each of her 7 friends but she is shori of 19 caresr =heker s
How many stickers does she have? '

(1)
(2)
(3)
(4)

48

184
203
222

207 children are divided into 9 equai groups. If there are 99 boys altogether, how
many girls are there in each group if the nurnber of girls in each groupds the same?

(1)
(2)
(3)
(4)

Jason and Lucy have 264 phonecards. If Jason has three times’as many

12
23
108
196

phonecards as Lucy, howhonecards does Jason have?

(1)
(2)
(3)
(4)

66 _

88 -
176 - 2 .
198 :

When 5 children shased some marbles eguaily_each of them got 36 marbles.
if these marbles are shared by 4 more children, how many marbles will each chilc_!

get?

(1)
(2)
(3)
(4)

20
45
144
180
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SECTION B (20 X 2 marks)
Work out the following sums and write your answers in the boxes provided.

21 Complete the number pattern.

2790, 2785, 2775, . 2740

22 The second largest number that can be formed with the digits 0, 2 4 and 6}_5

| S

23 Write the numeral for eight thousand and twenty-three.

24 How many eights are there in 1287

[ eights“

25 6x7=T7+7+7+[ 2 |x72

26 The product of two numbers is 105. if one number is 5, the other number is
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27 7 boys share 742 stamps equaily. How mafiy stamps dgoes each boy get?

$tamps

29 What number when divided by 3 has a quotient of 18 and a femaindef of 17?2

| W i

30 40 tens divided by 8 is x 10.

31 The sum of three numbers is 6278.

—_——— P

The sum of two of the numbers is 5394.
What is the third number?

32 Divide 2 hundreds and 9 ones by 7. The re@ﬁnder is
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33 There are 108 sweals in each packel. If there are 6 packels, how many sweels are
thero altogeiher?

sweels

34 e
Special offer
| TN RN AN )
] o
o L ]
_ 3 oranges for $2
Lee Kim wants to buy 18 oranges. How much must she pay?
$
35 ’

D= OGO
PAGRAVAV,

Oy
How manyo does one® represent? | _

- O

36 There dre 260 members in a computer chib. There are 74 more boys than girls in
the club. How many bovs are there?

Sub-fotal I
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37 James arranged 98 photo
nholographs. He filled on
many pages did he use?

graphs in an atbum. Each page of the album can hold 8
€ page complelely before going on o the next page. How

pages

38 & simiiar lov cars and a doil cost $180 4 e doll costs $30, what js Me cost of
oy car® :

wa

each

39 Terry and Jaifies donated-$3000. A

hmad donated $1676. I Jame
fess than Ahmad, how much did Te

s donated $100
Ty donate?, .
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SECTION C {5 x 4 marks)

Work cut the following sums carefully. Show each step of your working clearty as

marks will be given for workings and refevant statements.

41

Mr Sim wants to buy a set of sofa and a dining table. The sofa costs $2001 and the
dining table costs $449 iess. How much does he have {o pay in lolai?

t

42 A shopkeeper packed 624 cups of instant noodles into boxes each containing 8 cups

of instant noodles. If he sold each box at $4, how much money did he earn
altogether? ‘ '
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43 Ravi has 420 stickers. He throws aw

ay 49 shcke

rest of the stickers 1o his 6 friends equally.

rs which are spoilt He gives the

{a) How many stickers does each of his friend receive?
(b) How many stickers does he have feft?

44 Alihas 5 tamps.
He has ore stamps than Shanka.

Shanka has 4 times as many stamps as Tim.
(a) How many stamps does Tim have?
(b) .. How many stamps do they have altogether?
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45 Aro and Buso are aliens on planet Coco. There are a tolal of 100 Aros and Busos.
Aro has 3 legs and Buso has 7 legs. They have a total of 460 legs. How many of
each type of alien are there on planet Coco?
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Q13 | Q14

Q15 ] Q16

Q17

Qi1
372 2

*~23)8023
28)399
33)648.

38)$30

40)40R7

41)$2001-$449=$1552
The dining table cost $1552.
$15524+$2110=$3553
He has pay $3553 in total.
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- 30)5
a1z 35024

39)$1424
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100-40=60Aros
There are 40 Busos:and 60 Aros.

Page 2





